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Aufgaben-Quickname: 7865

Aufgabe 1
Quick:
7865

Schreibe als Bruch.

a) 0,05 = 1
20 b) 0,22 = 11

50 c) 0,94 = 47
50

Aufgabe 2
Quick:
7865

Schreibe als Bruch.

a) 0,6 = 3
5 b) 0,3 = 3

10 c) 3 = 3
1 d) 8 = 8

1

e) 0,8 = 4
5 f) 0,3 = 3

10 g) 0,7 = 7
10 h) 4 = 4

1

i) 0,1 = 1
10 j) 0,4 = 2

5

Aufgabe 3
Quick:
7865

Schreibe als Bruch.

a) 56 = 56
1 b) 0,86 = 43

50 c) 2,9 = 29
10 = 2 9

10 d) 19 = 19
1

e) 9,3 = 93
10 = 9 3

10 f) 8,6 = 43
5 = 83

5 g) 3,8 = 19
5 = 34

5

h) 0,3 = 3
10 i) 8 = 8

1 j) 5,4 = 27
5 = 52

5

Aufgabe 4
Quick:
7865

Schreibe als Bruch.

a) 0,131 = 131
1000 b) 0,799 = 799

1000 c) 0,7 = 7
10

d) 0,752 = 94
125 e) 0,9 = 9

10 f) 0,079 = 79
1000

g) 0,151 = 151
1000 h) 0,545 = 109

200 i) 0,833 = 833
1000

j) 0,347 = 347
1000

Viel Erfolg!
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